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Q.1

Multiple choiee Question:
[1] INTERNET was initially developed by US Department of
(A) Defense {B) Commerce (C) Interior (D) State
{2] The Internet doesn't provide e-marketers with
(A) access to market places.
(B) access to global markets.
(C) access to mass-marlkets.
(D) access to a broad range of demographic segments,
{3] Today, most E-commerce is .
(A) C2B B) C2C (C) B2C (b)B2B
[4] Online auction websites are the examples of EC category.
(A) C2B (B) C2C (C) B2C (D) B2B
[5] Which of the following is not a type of EC.
(A) C2C (B) b2B (C) B2C (D) B2B
[6] An electronic market infrastructure includes
{A) hardware (B) software
(C) network (D) all (a), (b) & (c)
[71 ___ isaninformation gateway.
(A) Portal  (B) Website  (C) Both (2) & (b) (D) None
[8] Corporate portals also knownas
{A) Intuitional portals
(B) Enterprise portals / enterprise information portals
(C) Enterprise website
(D} Corporate website
[91 CRM stands for
(A) Centric Reengineering Model
(B) Customer Reference Management
(C) Customer Relationship Management
(D) Collective Related Model
[10] Several vendors offer automated e-mail reply systems known as

which provide answers to commonly asked questions.

(A) Customer Services

(B} Auto-responders

(C) Intelligent agent Customer Services
(D) Customer [nteraction Sender

Q.2

Answer the following questions in short (Any 10):
[1] Define Characteristics of Internet.

[2] Explain Extranet Applications.

[3] Define Internet.

[4] What is B2B? Define with example.

[5] Define Non-Business E-commerce with example,
{6] What is E-commerce?

[7} Describe how EC improves direct marketing,

[8] Describe the concept of the virtual close.
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[9] List the components of a marketspace.
[10} Write the full form of CIC and FSA.
[11} Define Symmetric-Key algorithms,
[12] Define Computer Security,

Explain Architecture and Characteristics of Intranet.

Q.3 10
OR
Q.3 | Explain Architecture and Characteristics of Extranet, 10
Q.4 | Explain the benefits of E-Commerce to Organizations and to 10
Consumers.
OR
Q.4 | {A] Explain framework of E-Commerce. 5
[B] Write down benefits of E-Commerce to society. 5
Q.5 | [A] Discuss roles and values of intermediaries in e-markets. 5
{B] Explain Five Primary Revenue model with example. 5
. OR
Q.5 | [C] Explain the following B2B business model with example. 5
1. E-Distributor 2. B2B Service Provider
[D} Explain ‘E-tailer’ and ‘Service Provider’ of B2C business model 5
with example.
Q.6 | {A] Explain Application of Smart Cards. 5
{B] Describe Customer Touching Applications in detail. 5
OR
Q.6 | [C] Write a note on CRM Implementation Issues. 5
[D] Explain Credit card Payment System. 5
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